DR R SR S22 T SR e ]
BRI E CEo S RS E LN

- R L (RS54 0 £ 30 4)

1. Precision

2. Coprecipitation
3. Releasing agent
4. Detection limit
5. Alkaline error
6. Fluorescence
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1. Explain how ion-selective electrodes (ISE) work? (8 %)
2. ldentify factors that cause chemical deviations to Beer’s law and explain briefly. (10 4)

3. Explain the three factors that contribute to band broadening in a chromatogram and indicate
how does flow rate affect these three factors. (12 »")
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1. A 0.1246g of primary standard Na,C,04 (FW=134.00) in 1M H,SO, required 32.27mL of a
KMnO4 solution to reach the end point.  Calculate the molarity of the KMnO, solution.
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2. Preparing a 250-mL 1.0M of pH 4.80 of buffer solution by using solid sodium acetate
(FW=82.04) and 1M HCI.

3. Serum containing Na* gave a signal of 3.97 mV. Then 5.00 mL of 2.00M NaCl were added
to 95.0 mL of serum. This spiked serum gave a signal of 8.16 mV. Find the original
concentration of Na* in the serum.

4. The following data were obtained by liquid chromatography on a 25-cm column
(Vm=1.42mL, Vs=0.170mL).

Compound t, min Wi/, Min
Unretained 2.84 —
A 8.93 0.71
B 10.22 0.87

(A) Estimate the partition coefficient (K=Cs/Cm) for compound A.
(B) The resolution.



